THREBRLIRES

[ Frk 24 £ 4 A 30 B 3]# ]

1TEX 1T B X 4 B LS gt o ATEX 17T B X 4 B LS it A [ TEIX 17T B X 4 5 LS it A
1A 79 93 172 50 201 | &7 EREp 367 406 773 294 36 |BHABEN 647 657 1,304 355
(0] 1) ( 1) (—TH) 2) NniC 3 (STH) (0] 1) 1)
pALUN = 376 386 762 298 202| &7 R D 672 710 1,382 569 N7 ABEE— 18 21 39 12
(0| C 5 C b5 (ZTH) 3) 2 ( 5 (ETH) (. olC 0 0)
3| HTH 75 86 161 52 203 |'& /7 AR 576 582 1,158 444 318 |BHABEEIN 0 0 0 0
(ol 0 C o0 (ZTH) 1) 2 3 O\TH) (. olC 0 0)
4B 349 431 780 335 204 |8 /7 AR 491 519 1,010 399 321 | HEE— 16 14 30 9
(ol 0 C o0 (MTH) 2) 2 4 (—T H1~4%Hh) (. 0olC 0 0)
5— /B4 68 60 128 37 211 |k 413 415 828 327 322| X HE— 220 231 451 141
(ol C 0 C o0 (—TH) 0) 1) ( 1) (7T H43) C 21C 2 4)
6| —/F4 86 85 171 51 212 |kt 222 253 475 180 323 | HE— 698 679 1,377 405
(0]« 1) ] ( 1) (ZTH) 0) 0 C 0 (=T H43) C 221C 4 6)
7= B4 160 159 319 107 213 |kt 279 249 528 183 324 | HEE 392 384 776 275
(ol 0 C o0 (=TH) 0) 0 C 0 (UTH1~17%H#) | ( Hn C 0 1)
8|EFH 161 155 316 102 214 |k 364 381 745 302 325 | HEE — 681 704 1,385 410
(0] 1) ] ( 1) (MTH) 0) 0 C 0 (H T H43) ( N, C 2 3)
9| gt H 50 11 91 27 221 | BT DOY—TH 584 615 1,199 426 326 | HE— 349 384 733 210
(0] 1) ] ( 1) 0) 0| C 0 OSTH1~178&#) | (0| (2 2)
105 66 62 128 38 222 | BHITDOY T H 705 695 1,400 502 327 | HEE = 885 915 1,800 520
(ol 0 C o0 1) 2 3 (ET H4) (. 0olC 0 0)
11| K& 43 46 89 23 223|BHITOY=TH 840 828 1,668 610 328 |k M = 239 250 489 160
(. olC 0 C 0 0) 1) | ( 1) O\T H 43) (. olC 0 0)
12|45 5% 104 90 194 53 231|HEE—TH 620 645 1,265 442 329|pk M = 4 4 8 5
(0] 1) ( 1) 0) 0| C 0 (LT H 48%) (. olC 0 0)
13 K& 45 49 94 23 232|HEE-TH 798 843 1,641 572 331 | A HEE 1 11 12 12
(ol 0 C o0 2) 4) | (. 6) (— T H5~8%Hh) (. 0olC 0 0)
14 A FH 86 88 174 46 233|HER=TH 370 386 756 260 334 | HEE = 422 415 837 305
(o 0o C o0 0) NniIC 1 (UTH18~28%H) (2 ( 3) 5)
15/8A 99 78 177 49 241 | BTG — 426 440 866 266 336 | HEE — 454 479 933 266
( 0) | ( 0) | ( 0) 0) 2) | ( 2) (NTH18~35%F#) | ( 0) | ( 0) 0)
16| P& 1% 106 125 231 63 242 |1 T54E — 235 232 467 134 401| ERAA—TH 645 671 1,316 407
(0] 1) ( 1) 1) 0) | ( 1) ( 4 ( 1) 5)
20 [TE K fh 278 276 554 187 301 | MG HH— 441 483 924 355 402 ERAARTTH 0 0 0 0
(ol 0 C o0 (—TH) 0) 0 C 0 (0l C 0 0)
101 | K74 333 361 694 254 302 RIAEEH— 418 458 876 349 411\ KiGAK—TH 705 723 1428 408
(—TH) ( 1) ( NniC 2 (= TH) 1) 2 3 (5 |1C 9 10)
102 | K74 271 284 555 205 303 AEE =T 541 599 1,140 442 412 KGR —TH 342 359 701 215
(ZTH) (ol 0 C o0 0) 2 2 ( 1) | ( 1) 2)
111 O&hE—TH 819 838 1,657 613 304 A GE Y =— 1Y 156 187 343 161
( 5] C 3. C 8 0) 2 (2
M2/ 0&0ETH 485 441 926 372 M |\BFHABEE— 575 629 1,204 408
(0] 1)1 ( 1) (—TH) 0) 1) ( 1)
12117 —2 b 266 250 516 159 312\BHABE 487 526 1,013 321
(ol 0 C o0 (ZTH) 0) I C 3
140|LHDR 208 198 406 153 NI FAEE= 664 687 1,351 405
(—TH) ( 1) ( NI 2 (=TH) 1) 2 3
141 | HOR 48 59 107 40 M4 BHABRE= 208 205 413 144
(—TH) (ol C 0 C o0 (T H) 4) 0 C 4
142\ L H0R 342 355 697 259 5 HAREL 1,078 1,028 2,106 665
(ZTH) (. 2/C 6, 8 (WTH,LTH) 1) 0) | ( 1)
() PIANE AR SE S Th ik [ &5 ] B 24251 A % 24998 A 5t 49249 A 16,871t
KIZV—2 e 1F, O E— T BATBIXIZE E008, EBNTEFL TVET, ( 46) ( 74) ( 120)
SIVERAP 1, BT FATBIXISE END08, ERINZERHL TVET, [ ATA R ) B 24231 A Z 24967 A 5 49,198 A 16,821 tHEs
KA EBLET HIOITEXA T ATEHE SIS E TYHOM A GE — MRl TVET, [# &) B 20 A % 31 A i 51 A 50 tHE




